= amini A

B EsARERZEs-BE - BAHN

=

SEE
s

HRE

fSE T DR BA

RARLE
TESH

s

EESEER
Type standard
N
ERRNEEE
BE&ER
ksl 27
SEEER
TERE
TR R
=& (gr)
BRXIS
[RF=E

B

W

54

TERE
BT ERE
ERE B
“oL5 MR
BRER

HER

B bhinder

M12 FL3KE=FE, #RER: 4+FE, JER R, 4%, IP68, UL, M16x1.5

M12-L
09 0642 700 05

EE5)

718

XA ZHE (SMEMETUA)

195 225
AL 200 1 biown
2 white
—ird H %’ E‘l 3 blue
| I = 4 black
= ,[ i =y FE grey
SW 17 rmm

A=

DIN EN IEC 61076-2-111:2018-10;VDE 0687-76-2-111:2018-10

BTk manEEs

BT

%

1P68

AWG 16

-40°C/105°C

> 100 HERRER

27.35

85369010

DE

63V

1500V

12.0A

>10"Q

3

Gﬂ us

H#A : 10.05.2024



= amini A

BohCiRiEZR-BE > BIIHN

HElR
EMVE LI

i

ShFEAtEt
b3S v
AR
FEARE
REACH SVHC
SCIPSH3

R/
S

PAES

eCl@ss 11.1
ETIM9.0

M12 FLSKSEZRE, RER: 4+FE, JERRR, T 24, IP68, UL, M16x1.5

M12-L

09 0642 700 05

With flats as anti-rotation device

AT

N

13,5

FERK

Ei5eE, 8%

PA

R (k%)

Au (&)

CAS 7439-92-1 (Lead)
b5dd3761-4677-4564-89e8-4elcbffc4698

uL

27-44-01-09
EC003569

With bore hole
45°,#
h
. =
‘.\"‘-‘
%,
BERECH
S I 8 P

Installation direction: o-ing sits on chamfer.

Tightening moment

S

Metall housing/Plastic housing 1,25 Nm

Thickness of wall Y (mm)

Version min (mm) | max (mm)
Fastened from rear ? 3,5

Front fastened 2 45
positioning possible M | 2 3,5
Screw clamp 2 35
Thread M12 x 1 2 3,0
Thread M14x 12 3,5/42 | 65

Notes

1) Do nof attach o chamfer

2 Wall thickness:
use nut 38 5385 100001 up fo 1,5 mm,
>1,5 mm cut thread

3 Nut

) Thread in wall of housing

binder

Gﬂ us

H#A : 10.05.2024



= emist BE L .
A EHL AR S 5 - M =l binder

[ M12 FL3EZ R, #RER: 4+FE, JERIR, S84, IP68, UL, M16x1.5
SEE M12-L
ith= 09 0642 700 05
RS
Load current | (A)
20 = = = Without currentlimit 1.5 mm?/AWG 16
with current limit -~ 1.5 mm2/AWG 16
18 & -
16 bl -~ - =
et
~ 41
14 ===
-~ - =
12 =S
10 ™
8 N
\\
6 N
N
4 \
\\
2
\
0

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100 105 110
Ambient temperature of part TU (°C)

Gﬂ us

H#A : 10.05.2024



= amini A

=y«
ST LR S 5S-E » BF =l binder

i M12 FL3KE=FE, #RER: 4+FE, JER R, 4%, IP68, UL, M16x1.5
B M12-L
Bs 09 0642 700 05

LZERT

Gﬂ us

H#A : 10.05.2024



